Find each product.
1) 10(5%—38)
g()rl -80

3) 7(6p +5)

Y 2?4'3‘5/

5) 4v*(4v? — 6v+7)

ILO\IQ- 24\16—4- 28\[4

7y 5(6n* — 8n — 4)

30q -401~Z0

9 (n+6)dn+7)

L‘{/l 7'4—?)\-("'”‘2-

Name

2) 6+(107 + 10)

D" +Or

4y 6x(5x+1)

3% +(ox

6) 3r(8r* — 7r - 6)

Z"'r{—l\rq-lgfs

8) 6(x2 +8x—3)
x +HBx - 18

10) (76 -6)*

H9b*- 8Hb +3 L



11) (8m +6)3m + 5)
Z2Ym +58m 30

13) (x+2)(6x—7)
(oxX +$x-14

15) (2n+1)(7n- 8)

,"(VLZ“CM’B

17) (7x—3)(2x + 4)

|4 +22x -2

19) (p-2)3p-3)

%Pz"q]:* Lo

21) (3x+4)(8x-2)

2Ux " 200% -8

12) (5x-5)(8x+7)

dOx* -5 x -35

14) (55 + 8)(66 — 6)

20b%+(2b-H8

16) (2x +4)(5x - 6)

|0x +8x -24

18) (3x +1)(2x-7)

ox - 19% -7

20) (7n-5)(5n-17)

350 - Fnr3S

22) (6n-5)(6n+5)

Bl -25



